Exercise 8C

L A X>3 D x>
e > 2 P Xxelw
Z B X< D 29
e &3 I xS2
3. 3 X 10 « 525
2X 10 + /=2
25X 27

a She has forgotten to reverse the inequality sign when
dividing by a negative number.

b 5-2Xx74=5+8=13 which is greater than 11
8 x<b D> 6
20 + 0.5d = 55

a yes b yes C  yes d no

T o b R ] ) s i gexe 4 d@ xr>6....¢.x<13

a x<3 Dx>5 e x=>2 g t=<6S e x<10
10x<7
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Exercise 8D
1 For Question 1 of Exercise 8C:

Scanned with CamScanner


https://v3.camscanner.com/user/download

glelar /o KR B 1.2

S e 7,8,9

6,17,18,19,20b 18,19, 20

s ey D e 1,23

- D x2:d

S xX <10 e 05x<30

K X0 b 9<x<16

4<x<10 e 1<XS4

i O—0 b i
e —— o P T e T
s 6 0 16

H 10 1 2349 H 10 11, 12:13,14
15, 16
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1 7 4 10
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52,3.4
1 R 24295 b 21,22 23 ¢ 22,23,.24.2
S 8. 5,67 b 6,7
9 a 10,11,12 b 4.5:6
10 length must be greater than 8 cm
11 width must be greater than 15cm
12 Amy is younger than 9

13a

10<3x+1<22

Any

integer

greater {\ny

than 8 lnteger
less

than 4
b Students’ own answers

14 Students’ own answers
188 2<x<6: b "1y <3 e RO
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Exercise SE

1 Only graph B could be that of y=3x—4
2 8 y=3x+5 b y=2x-3
c y=T7-x d y="1-2
a y-intercept = 3, gradient = 2
b y-intercept = 2, gradient = 3
-:';-, gradient = =

¢ y-intercept = 3

d y-intercept = 4 gradient =2
: l
e y-intercept = gradlent i

f y-intercept=— gradncnt =2

3
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g y-intercept = 14, gradient = -6
g X

h y-intercept = 3 gradient = o
4 b,cande
§ aandc¢,bandf
6 a y=2x b y=2x+1
d y=2x-3 e y=2x+§_
. 2
d RAiy=35x+< b y=5x+2
d y=~2x+2 e y::2
8 a y=3x+3 b y=4x-2
9 a 2 b -% c-2
1 i
¢ , 1.2

10a aandd,bande,cand f

b candf

11a y=3x+2 b y=2x+4
d y=4x-3

c y=4x-1
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